8/¢

UPPER SWAGED

SWAGED ENDLAP SUPERLOK PANEL

TAPE SEALER
[HW-515]

SWAGED ENDLAP TAPE SEALER
[HW-515]

PREPUNCHED HOLES
(16" PANEL ONLY)
BACKUP PLATE
[HW-7766] 16" PANEL
[HW-7764] 12" PANEL

VIEW "A”

TRI-BEAD TAPE SEALER
[HW-504] @ 16" PANEL
TRIPLE-BEAD TAPE SEALER
[HW-502] @ 12" PANEL

LOWER

1/4-14 x 5/8 LONG-LIFE SUPERLOK

"TYPE B' SELF-TAPPER PANEL

W/WASHER [FASTENER #46]

(5) PER 16" PANEL UPPER SWAGED 12"

(4) PER 12" PANEL SUPERLOK PANEL

1 TRI-BEAD TAPE SEALER 2 3 4 1
\ \ \ \
BACKUP PLATE r ! ! ! P
| | |
| | |
| | |

— [HW-504] @ 16" PANEL
TRIPLE-BEAD TAPE SEALER
[HW-502] @ 12" PANEL

LOW FLOATING CLIP
[HW-230]

BEARING PLATE
[HW-7500]

[HW-7766] 16" PANEL
[HW-7764] 12" PANEL

SUPERLOK PANEL
(LOWER)

16"

1/4-14 x 5/8 LONG-LIFE
"TYPE B’ SELF-TAPPER
W/WASHER [FASTENER #46]

3 4
RIGID INSULATION ‘ ‘

2 1
| |
(NOT BY MBCI) @'i% ‘? 'ig 'ig D)

—

METAL DECK
(NOT BY MBCI)

FASTENER INSTALLATION SEQUENCE

VAPOR BARRIER DECK SCREW (2) PER CLIP
(NOT BY MBCI) (MIN. 3/4” PENETRATION
INTO METAL DECK)




DIM. NO
NOTE:

(6" MAX./2" MIN.) FASTENERS REFERENCE TYPICAL TRIM
LAP SECTIONS

FLEXIBLE MEMBRANE

EXPANSION JOINT TRIM TRI-BEAD TAPE SEALER @w&oﬂ
TRI-BEAD TAPE SEALER EA. SIDE OF FLEXIBLE MEMBRANE
[HW-504] EA. SIDE OF

FLEXIBLE "MEMBRANE EXPANSION JOINT CLEAT

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] @ 24” O.C.

SUPERLOK™ PANEL
% (FIELD CUT AND BEND

1/4-14 x 1 1/4 LONG-LIFE

SELF—DRILLER W/WASHER LOW FLOATING CLIP
[FASTENER #1E] @ 24" 0O.C. [HW-230]
SUPERLOK PANEL BEARING PLATE
(FIELD CUT AND BEND [HW-7500]

UP 2" AS REQ'D)

\ RIGID INSULATION

UP 2" AS REQ'D)

3/8"

DECK SCREW (2) PER CLIP DECK SCREW @ 24" o.c./ 2 x4 x 16 GA ANGLE (NOT BY MBC)

(MIN. 3/4" PENETRATION (MIN. 3/4" PENETRATION LOW RAKE SUPPORT [HW-7712]

NTO METAL DECK) INTO METAL DECK) 1/4=14 x 1 1/4 SHOULDER VAPOR BARRIER
STRUCTURAL ANGLE TEK 2 SELF-DRILLER (NOT BY MBCI)
(NOT BY MBCI) [FASTENER #5] @ 24" 0.C. METAL DECK

(CENTER IN SLOT) (NOT BY MBCI)



FLEXIBLE MEMBRANE
SLIP JOINT TRIM

TRI-BEAD TAPE SEALER
[HW-504] EA. SIDE OF
FLEXIBLE MEMBRANE

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E]'@ 24" 0.C.

SUPERLOK PANEL
(FIELD CUT AND BEND
% UP 2" AS REQ'D)

DIM

NO

(6" MAX./2" MIN.)

FASTENERS

TRI-BEAD TAPE SEALER &HW*SOH

EA. SIDE OF FLEXIBLE MEMBRANE NOTE:
HIGH WIND PARAPET RAKE REFERENCE TYPICAL TRIM
CLEAT [F292] LAP SECTIONS
1/4-14 x 1 1/4 LONG-LIFE
SELF—-DRILLER W/WASHER LOW FLOATING CLIP
[FASTENER #1E] @ 24" 0O.C. [HW-230]
SUPERLOK PANEL BEARING PLATE
(FIELD CUT AND BEND [HW-7500]
UP 2" AS REQ'D)

S=/

3/8"

DECK SCREW (2) PER CLIP
(MIN. 3/4” PENETRATION
NTO METAL DECK)

(MIN. 3/4" PENETRATION
INTO METAL DECK)

2 x 4 x 16 GA. ANGLE//(
DECK SCREW @ 24” 0.C.

\ LOW RAKE SUPPORT

[HW-7712]

1/4=14 x 1 1/4 SHOULDER
TEK 2 SELF-DRILLER
[FASTENER #5] @ 24" 0.C.
(CENTER IN SLOT)

\R\G\D INSULATION
(NOT BY MBCI)
VAPOR BARRIER
(NOT BY MBCI)
METAL DECK
(NOT BY MBC)



SUPERLOK PANEL

EAVE END
OF PANEL

EAVE SEALANT DETAIL

12"

" 35/16" 35/16" 35/16" 1
o o o o

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER

FASTENER SPACING @ EAVE
[FASTENER #1E)

URETHANE TUBE SEALANT
BETWEEN PANEL RIBS

URETHANE SEALANT MUST COME
IN CONTACT WITH TAPE SEALER
TO FORM A WEATHERTIGHT SEAL

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 16" 0.C.

BOX PANEL CAP TRIM
[FL-272]
SCULPTURED EAVE TRIM
[FL-253]

1/8 x 3/16 POP RIVET
[FASTENER #14]
@ 3-0" 0.C.

12-24 x 1 1/4 LONG-LIFE TEK 4.5
W/WASHER [FASTENER #78]

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 12" 0.C.

OUTSIDE CLOSURE———

WALL PANEL ————————

2

0/0 DIMENSION
(SEE PLAN)

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E)

PER 16" PANEL
PER 12" PANEL

URETHANE TUBE SEALANT
BETWEEN PANEL RIBS

TRI-BEAD TAPE SEALER
[HW-504]

3" x 5" x 14 GA. BENT
PLATE (HOLD TOP OF
PLATE 3/8" ABOVE TOP
OF RIGID INSULATION)

1/8 x 3/8 POP_ RIVET
[FASTENER #144]

@ 5-0" 0.C.

12-24 x 1 1/2 PAN HEAD
TEK 45 SELF-DRILLER
[FASTENER #16]@ 12” 0.C.

STRUCTURAL ANGLE
(NOT BY MBCI)

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

SUPERLOK  PANEL

~
=
ODA

RIGID INSULATION
(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBCI)

METAL DECK
(NOT BY MBCI)



SUPERLOK PANEL

EAVE END
OF PANEL

EAVE SEALANT DETAIL

URETHANE TUBE SEALANT
BETWEEN PANEL RIBS

12"

" 35/16"
ke

35/16" 35/16" 1
ke le

FASTENER SPACING @ EAVE

i
WAL PAN
THICKNESS

URETHANE SEALANT MUST COME
IN' CONTACT WITH TAPE SEALER
TO FORM A WEATHERTIGHT SEAL

BOX EAVE TRIM [FL-326]

12-24 x 1 1/4 LONG-LIFE TEK 4.5 i
W/WASHER [FASTENER #78]

W/WASHER [FASTENER #4]@ 12° o.c/%

1/4-14 x 7/8 LONG-LIFE LAPTEK

OUTSIDE CLOSURE

WALL PANEL———"

(SEE PLAN)

TRI-BEAD TAPE SEALER

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER

[FASTENER #1E]

(5) PER 16" PANEL 12

(4) PER 12" PANEL

URETHANE TUBE SEALANT
BETWEEN PANEL RIBS

[HW-504]

3" x 5" x 14 GA. BENT
PLATE (HOLD TOP OF
PLATE 3/8” ABOVE TOP
OF RIGID INSULATION)
1/8 x 3/8 POP RNVET
[FASTENER #144]

@ 5-0" 0.C.

12-24 x 1 1/2 PAN HEAD
TEK 4.5 SELF-DRILLER
[FASTENER #16]@ 12" 0.C.

STRUCTURAL ANGLE
(NOT BY MBCI)

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

0/0 DIMENSION

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E]

SUPERLOK PANEL

8/<

RIGID INSULATION
(NOT BY MBCI)
VAPOR BARRIER
(NOT BY MBCI)

METAL DECK
(NOT BY MBCI)



SUPERLOK PANEL

NON—SKINNING BUTYL
SEALANT [HW7549J

EAVE END BETWEEN PANEL RIBS

OF PANEL

EAVE SEALANT DETAIL

BUTYL SEALANT MUST COME IN
CONTACT WITH THE DRIP EDGE
TO FORM A WEATHERTIGHT SEAL

(\EAVE TRIM W/ EXTENDED
) /2 DRIP EDGE [T-5151]

1

PANEL ENGAGEMENT DETAIL

FIELD NOTCH PANEL AS REQ'D. &
BEND PAN TO FORM OPEN HEM

1/

NON-SKINNING BUTYL:
SEALANT [HW75494
BETWEEN PANEL RIBS

EAVE TRIM W/ EXTENDED
DRIP EDGE [T-5151]

.

12-24 x 1 1/4 LONG-LIFE TEK 4.5
W/WASHER [FASTENER #78]

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 12" o.c_/
OUTSIDE CLOSURE

WALL PANEL———=

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

—
=0’ MAX.
NEL LOW FLOATING CLIP [HW-230]
WAL KP»TESS DECK SCREW (2) PER CLIP
THC (MIN. 3/4” PENETRATION

INTO METAL DECK)
BEARING PLATE [HW-7500]
SUPERLOK PANEL

12-14 x 1 PANCAKE HEAD
SELF-DRILLER [FASTENER #12A]
@ 12" 0.C. -

8/t

RIGID INSULATION
(NOT BY MBCI)
VAPOR BARRIER
(NOT BY MBCI)

METAL DECK
(NOT BY MBCI)

3" x 5" x 14 GA. BENT
PLATE (HOLD TOP OF
PLATE 3/8" ABOVE TOP
OF RIGID INSULATION)

12-24 x 1 1/2 PAN HEAD
TEK 4.5 SELF-DRILLER
[FASTENER #16]@ 12" O.C.

STRUCTURAL ANGLE
(NOT BY MBCI)

NOTE:
DO NOT USE THIS DETAIL ON
ROOF SLOPES LESS THAN 3:12

0/0 DIMENSION
(SEE PLAN)




0,/0 DIMENSION
(SEE PLAN)

MASONRY WALL (NOT BY MBCI)———=—

URETHANE TUBE SEALANT
CONTINUOUS

COUNTERFLASH [FL-341]

Sﬂ ED \/E PARAPET HIGH EAVE TRIM I"‘
Ny 1

. FIELD SAWCUT

TRI-BEAD TAPE SEALER
[HW-504]

PERFORATED VENT DRIP [FL-254]

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER gFASTENER #41@ 6" 0.C.

14-10 x 2 DECK SCREW
[FASTENER #209] @ 24" 0.C.
(

PRE-DRILL HOLE)

URETHANE TUBE SEALANT
/@ CLOSURE ENDS/PANEL RIB
& LAPPING CLOSURE TABS TO
SEAL ALL VOIDS

_—1/4=14 x 1 1/4 LONG-LIFE

(DO NOT INSTALL THRU' PANEL RIB)
12 1/4-14 x 7/8 LONG-LIFE LAPTEK

W /WASHER [FASTENER #4]@ 6" 0.C.

TRI-BEAD TAPE SEALER

[HW-504]

LOW FLOATING CLIP [HW-230]
BEARING PLATE

SUPERLOK PANEL- [HW-7500]

SELF-DRILLER W/WASHER
[FASTENER #1E] (1) PER RIB

| —— OUTSIDE CLOSURE

[HW-440] @ 16" PANEL

[HW-446] @ 12" PANEL

| BACKUP PLATE
[HW-7766] @ 16" PANEL

[HW-7764] @ 12" PANEL
TRI-BEAD TAPE SEALER [HW-504]

™——1/4-14 x 5/8 LONG-LIFE
TYPE B’ SELF-TAPPER

W/WASHER [FASTENER #46]
(4) PER 16" PANEL
(3) PER 12" PANEL

NOTE:

RIGID INSULATION DECK SCREW (2) PER CLIP
(NOT BY MBCI) (MIN. 3/4” PENETRATION
VAPOR BARRIER INTO METAL DECK)

(NOT BY MBCI)

METAL DECK

(NOT BY MBCI)

REFERENCE TYPICAL TRIM
LAP SECTIONS




SUPERLOK PANEL:

8/¢

RIGID INSULATION
(NOT BY MBCI)

VAPOR BARRIER

12
—

1/4=14 x 7/8 LONG-LIFE LAPTEK

W/WASHER [FASTENER #4]@ 6” 0.C.

(DO NOT INSTALL THRU PANEL RIB)
PARAPET HIGH EAVE TRIM

1/4=14 x 7/8 LONG-LIFE LAPTEK

W/WASHER [FASTENER #4]@ 6” 0.C.

METAL VENT MATERIAL [HW-525]

TRI-BEAD TAPE SEALER [HW-504]

LOW MID-SLOPE FIXED PLATE
[HW-7631]

(NOT BY MBCI)

METAL DECK

(NOT BY MBCI)

0/0 DIMENSION

(SEE PLAN)

MASONRY WALL (NOT BY MBCI) ——=

URETHANE TUBE SEALANT ———=—
CONTINUOUS

COUNTERFLASH [FL—341]————=

DECK SCREW @ 12" 0O.C.
(MIN. 3/4" PENETRATION
INTO METAL DECK)

| _— FIELD SAWCUT

- TRI-BEAD TAPE SEALER
[HW-504]

———14-10 x 2 DECK SCREW
[FASTENER #209] @ 24” 0.C.
(

PRE-DRILL HOLE)

URETHANE TUBE SEALANT
/@ CLOSURE ENDS/PANEL RIB
& LAPPING CLOSURE TABS TO
SEAL ALL VOIDS

/W/444 x 1 1/4 LONG-LIFE

SELF-DRILLER W/WASHER
[FASTENER #1E] (1) PER RIB

| —— OUTSIDE CLOSURE
[HW-440] @ 16" PANEL

[HW-446] @ 12" PANEL

| T——1/4-14 x 1 1/4 LONG-LIFE

SELF-DRILLER W/WASHER
[FASTENER #1E]

(4) PER 16" PANEL

(3) PER 12" PANEL

NOTE:

REFERENCE TYPICAL TRIM
LAP SECTIONS

|~ TRI-BEAD TAPE SEALER [HW-504]



RIGID INSULATION

(NOT BY MBCI)

12
—

METAL VENT MATERIAL [HW—525]

1/4=14 x 7/8 LONG-LIFE LAPTEK

W/WASHER gFASTENER #4%@ 8" 0.C.
(DO NOT INSTALL THRU PANEL RIB)

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 6" 0.C.

TRI-BEAD TAPE SEALER [HW-504]
LOW FLOATING CLIP [HW-230]
BEARING PLATE [HW-7500]
SUPERLOK PANEL

DECK SCREW (2) PER CLIP
(MIN. 3/4" PENETRATION

VAPOR BARRIER INTO METAL DECK)
(NOT BY MBCI)

METAL DECK
(NOT BY MBCI)

0/0 DIMENSION

(SEE PLAN)

MASONRY WALL (NOT BY MBCI)

URETHANE TUBE SEALANT
CONTINUOUS

COUNTERFLASH [FL-341]
PARAPET HIGH EAVE TRIM

| _——FIELD SAWCUT

TRI-BEAD TAPE SEALER

[HW-504]

———14-10 x 2 DECK SCREW
[FASTENER #209] @ 24" 0.C.

(PRE-DRILL HOLE)

URETHANE TUBE SEALANT

/@ CLOSURE ENDS/PANEL RIB
& LAPPING CLOSURE TABS TO
SEAL ALL VOIDS

1/4=14 x 1 1/4 LONG-LIFE

SELF-DRILLER W/WASHER
[FASTENER #1E] (1) PER RIB

| —— OUTSIDE CLOSURE
[HW—440] @ 16" PANEL

[HW—446] @ 12" PANEL

| T BACKUP PLATE
[HW-7766] @ 16" PANEL

[HW-7764] @ 12" PANEL

TRI-BEAD TAPE SEALER [HW-504]

™S——1/4-14 x 5/8 LONG-LIFE
'TYPE B SELF-TAPPER

W/WASHER [FASTENER #46)
(4) PER 16" PANEL
(3) PER 12" PANEL




8/s

BEARING PLATE [HW-7500]
LOW FLOATING CLIP
[HW-230]

SUPERLOK PANEL

METAL DECK
(NOT BY MBC)

DECK SCREW (2) PER CLIP
(MIN. 3/4" PENETRATION
INTO METAL DECK)

RIDGE/HIP TRIM
[FL-209]

2 x 2 x 16 GA. BACK-UP
ANGLE

8 x 5/8 NIBBED DRILLER
[FASTENER #24]
@ 4" 0C.

TRI-BEAD TAPE SEALER [HW-504]
CONT. ACROSS PANEL

URETHANE TUBE SEALANT @
CLOSURE ENDS (1/4" BEAD MIN.)

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 6" 0.C.
(DO NOT INSTALL THRU' PANEL RIB)

TRI-BEAD TAPE SEALER [HW-504]

ZEE CLOSURE [FL-361]
(FIELD CUT TO LENGTH &
BEVEL CUT TO FIT PANEL)

RIGID INSULATION
(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBCI)



1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] (1) PER RIB

NOTE: URETHANE TUBE SEALANT
REFERENCE TYPICAL TRIM g MAX. @ CLOSURE ENDS/PANEL RIB
LAP SECTIONS & LAPPING CLOSURE TABS TO
SEAL ALL VOIDS

7" 2 1/4-14 x 7/8 LONG-LIFE LAPTEK
1 W/WASHER [FASTENER #4]@ 6" O.C.
— RIDGE TRIM [FL—200] (DO NOT INSTALL THRU PANEL RIB)

OUTSIDE CLOSURE
[HW-440] @ 16" PANEL

[HW-446] @ 12" PANEL SUPERLOK PANEL

12
]

LOW FLOATING CLIP TRI-BEAD TAPE SEALER
[HW-230] [HW-504]

BEARING PLATE
[HW-7500] —
\\\\\j\\\\
- [ ——
T = T
- 5%\{‘ -—

BACKUP PLATE

= [HW-7766] @ 16” PANEL Fi N =

[HW-7764] @ 12" PANEL |
1/4-14 x 5/8 LONG-LIFE DECK SCREW (2) PER CLIP
TYPE B" SELF-TAPPER (MIN. 3/4" PENETRATION

RIGID INSULATION -

(NOT BY MBCI) Eﬁ‘w%é% Té@ﬁﬁi%ﬁ? W/WASHER [FASTENER #46] INTO METAL DECK)

VAPOR BARRIER ACROSS PANEL (4) PER 16,; PANEL

(0T BY Mg (3) PER 12" PANEL

METAL DECK

(NOT BY MBCI)



1/4=14 x 1 1/4 LONG-LIFE
SELF-DRILLER W /WASHER
[FASTENER #1E] (1) PER RIB
URETHANE TUBE SEALANT
RIDGE TRIM @ CLOSURE ENDS/PANEL RIB

- & LAPPING CLOSURE TABS TO
[FL-300] SEAL ALL VOIDS

1/4-14 x 7/8 LONG-LIFE LAPTEK

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

TRI-BEAD TAPE SEALER [HW-504]
1/4-14 x 7/8 LONG-LIFE LAPTEK

W /WASHER gASTENER #41@ 6" 0C. 12
W/WASHER [FASTENER #4]@ 6" 0.C. (DO NOT INSTALL THRU" PANEL RIB) — ]
PERFORATED VENT DRIP [FL-254] o - QUTSIDE_ CLOSURE
LOW FLOATING CLIP [HW-230] g\ e [HW-440] @ 16” PANEL

BEARING PLATE [HW~7500] [HW-446] @ 12" PANEL SUPERLOK PANEL

\/ﬁ\ \\\\\\j\\\\
_ ) / I
iy Te—
~ e
: (]
BACKUP PLATE - e
[HW—-7766] @ 16" PANEL =
[HW-7764] @ 12" PANEL P
1/4-14 x 5/8 LONG-LIFE RIGID INSULATION
DECK SCREW (2) PER CLIP VWEVE\SEESELFE\;%EEER s (NOT BY MBCI)
(MIN. 3/4” PENETRATION (4/) o 16[, L #46) VAPOR BARRIER
INTO' METAL DECK .
) (3) PER 12" PANEL (NOT BY MBCI)
TRI-BEAD TAPE SEALER [HW-504] METAL DECK

CONT. ACROSS PANFI (NOT BY MBCI)



TRI-BEAD TAPE SEALER [HW-504]

0/0 DIMENSION
(SEE PLAN)

1/4=14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 6 O.C.
TRI-BEAD TAPE SEALER

[HW-504]

HIGH WIND PARAPET RAKE

CLEAT [F292]

1/4=14 x 1 1/4 LONG-LIFE
SELF-DRILLER #/WASHER

[FASTENER #1E] @ 24" 0.C.

LOW RAKE SUPPORT ANGLE
[HW-7712]

SCULPTURED RAKE TRIM

FIELD CUT & BEND UP 2" PANEL LEG
AS REQ'D. WHEN ENDING OFF MODULE

LOW FLOATING CLIP
[HW-230]

DECK SCREW (2) PER CLIP
(MIN. 3/4" PENETRATION
INTO METAL DECK)

BEARING PLATE [HW-7500]

/ SUPERLOK PANEL

12-24 x 1 1/2 PAN HEAD
TEK 4.5 SELF-DRILLER
[FASTENER #16] @ 12" 0.C.

12-24 x 1 1/4 LONG-LIFE TEK 45
W/WASHER [FASTENER #78]

HIGH WIND RAKE SLIDE [F215]

3/8"

1/4-14 x 7/8 LONG-LIFE LAPTEK

W/WASHER [FASTENER #4]@ 12" 0.C.

OUTSIDE CLOSURE —
WALL PANEL————

\2 x 4 x 16 GA. ANGLE

1/4-14 x 1 1/4 SHOULDER
TEK 2 SELF-DRILLER
[FASTENER #5] @ 24" 0.C.
(CENTER IN SLOT)

STRUCTURAL ANGLE
(NOT BY MBCI)

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

\RGD INSULATION
(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBCI)

METAL DECK
(NOT BY MBCI)



TRIPLE BEAD
TAPE SEALER
[HW-502]

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] @ 3" 0.C.
(FASTENER MUST GO
THROUGH TAPE SEALER)

BEVELED EDGE
OF ROOF PANEL

PANEL RIB/

DETAIL "A” 1

Y a—
1(@))

\Y
/1

{(
A\

DETAIL "A”

URETHANE TUBE SEALANT A2

BETWEEN PANEL RIBS

TRIPLE BEAD TAPE SEALER
[HW-502]

DECK SCREW @ 12" 0.C.
(MIN. 3/4” PENETRATION
INTO METAL DECK)

VALLEY TRIM
[FL-707]

VALLEY SUPPORT PLATE
[P-105]

URETHANE SEALANT

VALLEY END
OF PANEL

URETHANE SEALANT MUST COME
IN CONTACT WITH TAPE SEALER
TO FORM A WEATHERTIGHT SEAL

1/4-14 x 1 1/4 LONG—LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] @ 3" 0.C.
](FASTENER MUST GO

HROUGH TAPE SEALER)

12-14 x 1 PANCAKE HEAD
SELF-DRILLER [FASTENER #12A]
@ 50" 0.C.

SUPERLOK PANEL

RIGID INSULATION
(NOT BY MBCI)

VAPOR BARRIER
(NOT BY MBCI)

METAL DECK
(NOT BY MBCI)




11/2°

._/, FIELD NOTCH PANEL
LEGS AND BEND PAN
TO FORM OPEN HEM

11/2"

VALLEY END

OF PANEL

. BUTYL SEALANT MUST COME IN
172 [-337] E:onmx WITH THE OFFSET cmﬂ

NON-SKINNING Bl
SEALAN HW—MQﬂ‘rL
BETWEEN PANEL RIBS

1/

TO FORM A WEATHERTIGHT SEAL

TRI-BEAD TAPE SEALER [HW-504]

SUPERLOK PANEL
LOW FLOATING CLIP
[HW-230]
12-14 x 1 PANCAKE HEAD
SELF-DRILLER [FASTENER #124]
© 5-0" 0.C.

12-14 x 1 PANCAKE HEAD
SELF-DRILLER [FASTENER #124]
0 12" 0C.

BEARING PLATE [HW-7500]

NON-SKINNING B;iYL
SEALANT [HW-549
BETWEEN PANEL RIBS

OFFSET CLEAT [FL-337]

p RIGID INSULATION

METAL DECK = ===\ (NOT BY MBC))

NOT BY MBCI b i VAPOR BARRIER

¢ ) }I}I’\LI%O ]SUPPORT PLATE (NOT BY MBCI)

. NOTE: - DECK SCREW (2) PER CLIP
o ooz e | MiBoce e T X L e
INTO METAL DECK) LAP_SECTIONS INTO METAL DECK)
NOTE:

DO NOT USE THIS DETAIL ON
ROOF SLOPES LESS THAN 3:12
OR IN AREAS W/ SNOW LOADS
10 PSF OR GREATER




SWAGED ENDLAP TAPE SEALER
[HW-515]

VIEW "A”

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E]

(5) PER 16" PANEL

(4) PER 127 PANEL
TRI-BEAD, TAPE SEALER
[HW-504] @ 16" PANEL
TRIPLE-BEAD TAPE SEALER
[HW-502] @ 12" PANEL
UTILITY CLIP [HW-238]

LOWER SUPERLOK
PANEL

12-14 x 1 PANCAKE HEAD
SELF-DRILLER [FASTENER #124]
(2) PER CLIP

ZEE PURLIN

SWAGED ENDLAP
TAPE SEALER
[HW-515)

UPPER SWAGED
SUPERLOK PANEL

PREPUNCHED HOLES
(16" PANEL ONLY)

BACKUP PLATE
[HW—7766] 167 PANEL
[HW-7764] 12" PANEL

TRI-BEAD TAPE SEALER o
[HW-504] @ 16" PANEL i

TRIPLE-BEAD TAPE SEALER
[HW-502] @ 12 PANEL
LOWER

SUPERLOK
PANEL

UPPER SWAGED
SUPERLOK PANEL 127

[HW-7766] 16" PANEL
[HW=7764] 12” PANEL

2
\
BACKUP PLATE ?
|
|
|

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E]

3 4 5
\ \

NN

FASTENER INSTALLATION SEQUENCE



SWAGED ENDLAP
TAPE SEALER
[HW-515]

UPPER SWAGED
SUPERLOK PANEL

PREPUNCHED HOLES
SWAGED ENDLAP TAPE SEALER (16" PANEL ONLY)

[HW-515]

BACKUP PLATE
[HW-7766] 16" PANEL
[HW-7764] 12" PANEL

TRI-BEAD TAPE SEALER
[HW-504] @ 16" PANEL

TRIPLE-BEAD TAPE SEALER
[HW-502] @ 12" PANEL

LOWER
SUPERLOK
PANEL

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E]

(5) PER 16" PANEL

(4) PER 12" PANEL

UPPER SWAGED
SUPERLOK PANEL

TRI-BEAD TAPE SEALER
[HW-504] @ 16" PANEL
TRIPLE-BEAD TAPE SEALER
[HW-502] @ 12" PANEL

12
HIGH FLOATING CLIP
[HW-232]
LOWER SUPERLOK BACKUP PLATE 2‘ T “* W‘
PANEL [HW-7766] 16" PANEL
[HW-7764] 12” PANEL TE E E ? P
! | | I
| | | |
! | | |
16"

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1£]
3 4 5
| |

= T

1/4=14 x 1 1/4 SELF-DRILLER
W/O WASHER [FASTENER #1B]
(2) PER CLIP

ZEE PURLIN

FASTENER [INSTALLATION SEQUENCE



DIM.

NO

FLEXIBLE MEMBRANE

TRI-BEAD. TAPE SEALER
[HW-504] EA. SIDE OF
FLEXIBLE "MEMBRANE

1/4=14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] @ 24" 0.C.

SUPERLOK PANEL

(FIELD CUT & BEND UP

(6” MAX./2” MIN.)

FASTENERS

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

2" LEG AS REQ'D. TO
FIT AGAINST RAKE
SUPPORT ANGLE)

TRI-BEAD TAPE SEALER [HW-504]
EA. SIDE OF FLEXIBLE MEMBRANE

EXPANSION JOINT TRIM
EXPANSION JOINT CLEAT

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] @ 24" O.C.

LOW FLOATING CLIP [HW-230]

1/4-14 x 1 1/4 SELF-DRILLER
W/0 WASHER [FASTENER #1B]
(2) PER CLIP

2 x 4 x 16 GA. ANGLE/

12-14 x 1 PANCAKE HEAD
SELF-DRILLER [FASTENER #124]
(1) PER CONN. @ EA. PURLIN

ZEE PURLIN

LOW RAKE SUPPORT ANGLE
[HW-7712]

1/4=14 x 1 1/4 SHOULDER
TEK 2 SELF-DRILLER
[FASTENER #5] @ 24” 0.C.
(CENTER IN SLOT)

DIM.




127

1" 35/16" 35/16" 35/16" ¢
le o lo

1/4-14 x 1 1/4 LONG-LIFE

FASTENER SPACING @ EAVE SELF- DR‘LLER W/WASHER
[FASTENER #1E]

AL P ANEL

SUPERLOK PANEL
THI CKNESS

WRiEs W/
ROOF S\_QPE

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] 1

5) PER 16" PANEL —
543 PER 12" PANEL

URETHANE TUBE SEALANT
BETWEEN PANEL RIBS

TRI-BEAD TAPE SEALER
[HW-504]

LOW FIXED FAVE PLATE
[HW-7600]

URETHANE TUBE SEALANT
BETWEEN PANEL RIBS

EAVE END
OF PANEL

SUPERLOK PANEL

EAVE SEALANT DETAIL

URETHANE SEALANT MUST COME
IN CONTACT WITH TAPE SEALER
TO FORM A WEATHERTIGHT SEAL

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 16" 0.C.

BOX PANEL CAP TRIM
[FL-272]

12-14 x 1 1/4 LONG-LIFE SELF-
DRILLER W/WASHER [FASTENER #3]

1/8 x 3/16 POP RIVET
[FASTENER #14]
@ 3-0" 0.C.

SCULPTURED EAVE TRIM
[FL-253]

1/4-14 x 1 SELF-DRILLER
W/WASHER [FASTENER #1]
@ 12" 0.C.

1/8 x 3/8 POP RIVET
[FASTENER #14A]
@ 5-0" 0.C.

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 12" 0.

' / EAVE STRUT
OUTSIDE CLOSURE

NOTE:
WALL PANEL —————=] REFERENCE TYPICAL TRIM
LAP SECTIONS

0/0 DIMENSION
(SEE PLAN)




i“/4“ 1/4 LONG-LIFE

FASTENER SPACING @ EAVE SELF- DR‘LLER W/WASHER
[FASTENER #1E]

SUPERLOK  PANEL

WAL PAVEL

1/4=14 x 1 1/4 LONG-LIFE
S
THICKNES

SELF—DRILLER W/WASHER

[FASTENER #1E]

E5§ PER 16" PANEL

4) PER 12" PANEL 12

URETHANE TUBE SEALANT
BETWEEN PANEL RIBS

TRI-BEAD TAPE SEALER
[HW—504] SUPERLOK  PANEL

LOW FIXED EAVE PLATE
[HW-7600]

URETHANE TUBE SEALANT
BETWEEN PANEL RIBS

EAVE END
OF PANEL

EAVE SEALANT DETAIL

URETHANE SEALANT MUST COME
IN CONTACT WITH TAPE SEALER
TO FORM A WEATHERTIGHT SEAL

8/s

BOX EAVE TRIM [FL-326] ————=

1/4-14 x 1 SELF-DRILLER

12-14 x 1 1/4 LONG-LIFE SELF—
W/WASHER [FASTENER #1]
@ 12" 0C.

DRILLER W/WASHER [FASTENER #3]
1/4-14 x 7/8 LONG-LIFE LAPTEKJ?%
: 1/8 x 3/8 POP RIVET
W/WASHER [FASTENER #4]@ 12
/ [ 4] / [FASTENER #14A]
OUTSIDE CLOSURE >-0m ot

WALL PANEL —————

EAVE STRUT

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

0/0 DIMENSION
(SEE PLAN)



EAVE END
OF PANEL

EAVE SEALANT DETAIL

BUTYL SEALANT MUST COME IN
CONTACT WITH THE DRIP EDGE
TO FORM A WEATHERTIGHT SEAL

11/2"

-

11/2"

S

|
|
|
|
| I—

1/ | | 1/2"

q 1
11/2"

FIELD NOTCH PANEL
LEGS AND BEND PAN

TO FORM OPEN HEM

i EAVE TRIM W/DRIP

EDGE [T-5151]

NON-SKINNING BUTYL
SEALANT [HW—5491
BETWEEN PANEL RIBS

NON—SKINNING BUTYL:
SEALANT [HW—5494
BETWEEN PANEL RIBS

EAVE TRIM W/DRIP EDGE
[T-5151]

1/4-14 x 7/8 LONG-LIFE LAPTEK—=hoxlitog=
W/WASHER [FASTENER #4]@ 12" 0.C. A

OUTSIDE CLOSUREJ

12-14 x 1 1/4 LONG-LIFE SELF— —/
DRILLER W/WASHER [FASTENER #3]

WALL PANEL—————"

10" MAX.
v 12
AL PANE
W\\CKNESS

UTILITY CLIP [HW-238]
SUPERLOK  PANEL

12-14 x 1 PANCAKE HEAD
SELF-DRILLER [FASTENER #12A]

@ 12" 0.C.
TRI-BEAD TAPE SEALER _
[HW-504] = T
T
\

U

12-14 x 1 PANCAKE HEAD
SELF-DRILLER [FASTENER #124]
(2) PER CLP

ZEE PURLIN

NOTE:
LAP SECTIONS

REFERENCE TYPICAL TRIM

i EAVE STRUT

NOTE:
DO NOT USE THIS DETAIL ON
ROOF SLOPES LESS THAN 3:12

0/0 DIMENSION
(SEE PLAN)




1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 6" 0.C.

(DO NOT INSTALL THRU PANEL RIB) y URETHANE TUBE SEALANT
@ CLOSURE ENDS/PANEL RIB
TRI-BEAD TAPE SEALER [HW-504] o PR L oaRe TREe e
. OUTSIDE CLOSURE SEAL ALL VOIDS
[HW—-440] ® 16" PANEL
—— - , 1/4-14 x 1 1/4 LONG-LIFE
[HW-446] @ 127 PANEL SELF-DRILLER W/WASHER
UTILITY CLIP [HW-238] [FASTENER #1E] (1) PER RIB
SUPERLOK PANEL 2 x 2 x 16 GA. BACK-UP
B ANGLE
— \ TRI-BEAD TAPE SEALER
I \ [HW-504]
T i 1/4-14 x 1 1/4 LONG-LIFE
9 1/)2 SELF-DRILLER W /WASHER

[FASTENER #1E]
(4) PER 16" PANEL

12-14 x 1 PANCAKE HEAD ,

SELF-DRILLER [FASTENER #12A] (3) PER 127 PANEL

(2) PER CLIP et T SCULPTURED HIGH FAVE TRIM
[FL-265]

12-14 x 1 1/4 LONG-LIFE SELF-
DRILLER W/WASHER [FASTENER #3]

{L 1/4=14 x 7/8 LONG-LIFE LAPTEK

//, \\\ W/WASHER [FASTENER #4]@ 12" 0.C.
EAVE STRUT
OUTSIDE CLOSURE

NOTE:
REFERENCE TYPICAL TRIM = WALL PANEL
LAP SECTIONS

0/0 DIMENSION
(SEE PLAN)




/¢

1/4=14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 6” 0.C.
(DO NOT INSTALL THRU' PANEL RIB)

TRI-BEAD TAPE SEALER [HW-504]

OUTSIDE CLOSURE
[HW-440] @ 16" PANEL
[HW—446] @ 12" PANEL

SUPERLOK PANEL

LOW FIXED EAVE PLATE
[HW—7600]

. URETHANE TUBE SEALANT

\ @ CLOSURE ENDS/PANEL RIB
& LAPPING CLOSURE TABS TO
SEAL ALL VOIDS

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] (1) PER RIB

TRI-BEAD TAPE SEALER

T /1‘ [HW-504]
v 1/4=14 x 1 1/4 LONG-LIFE
3\ 212 SELF-DRILLER W/WASHER

[FASTENER #1E]
(4) PER 16" PANEL

(3) PER 12" PANEL

\
1/4-14 x 1 SELF-DRILLER =~ EE&;%RED HIGH EAVE TR
W/WASHER [FASTENER #1]
@ 12" 0.C. 12-14 x 1 1/4 LONG-LIFE SELF-
DRILLER W/WASHER [FASTENER #3]
%w«r' - —
-‘H|; W/4 14 x 7/8 LONG-LIFE LAPTEK

EAVE STRUT /

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

0/0 DIMENSION

(SEE PLAN)

W/WASHER [FASTENER #4]@ 12" 0.C.

OUTSIDE CLOSURE

~—— WALL PANEL




SUPERLOK PANEL

0/0 DIMENSION
(SEE PLAN)

MASONRY WALL (NOT BY MBCI)—————=

URETHANE TUBE SEALANT
CONTINUOUS

P FIELD SAWCUT

COUNTERFLASH [FL-341]
PARAPET HIGH EAVE TRIM
[FL-275)

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 6” 0.C.

TRI-BEAD TAPE SEALER EﬁW*SOH
EA. SIDE OF FLEXIBLE MEMBRANE

14-10 x 2 DECK SCREW
[FASTENER #209] @ 24 0.C.

(PRE-DRILL HOLE)
' FLEXIBLE MEMBRANE

L

(DO NOT INSTALL THRU PANEL RIB)

TRI-BEAD TAPE SEALER [HW-504]
@ TOP OF CLOSURE & TOP OF 2"
FLEXIBLE MEMBRANE

; / URETHANE TUBE SEALANT

@ CLOSURE ENDS/PANEL RIB
& LAPPING CLOSURE TABS TO
SEAL ALL VOIDS

OUTSIDE CLOSURE

[HW-440] @ 16" PANEL
[HW-446] @ 12" PANEL

HIGH FLOATING CLIP
[HW-232]

1/4=14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] (1) PER RIB

| —— BACKUP PLATE

[HW-7766] @ 16" PANEL

[HW-7764] @ 12" PANEL

TRI-BEAD TAPE SEALER
[HW-504]

1/4-14 x 1 1/4 SELF-DRILLER
W/O WASHER [FASTENER #1B]
(2) PER CLIP

ZEE PURLIN

1/4=14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E]

(4) PER 16" PANEL

(3) PER 12" PANEL

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS




0/0 DIMENSION

(SEE PLAN)

MASONRY WALL (NOT BY MBCI)—————=

FIELD SAWCUT
L

TRI-BEAD TAPE SEALER [HW-504]

URETHANE TUBE SEALANT
CONTINUOUS
COUNTERFLASH [FL-341] ;

EA. SIDE OF FLEXIBLE MEMBRANE

14-10 x 2 DECK SCREW
[FASTENER #209] @ 24" 0.C.

(PRE-DRILL HOLE)
_— FLEXIBLE MEMBRANE

/

W/WASHER [FASTENER #4]@ 6" 0.C.
(DO NOT INSTALL THRU PANEL RIB)

12 TRI-BEAD TAPE SEALER [HW-504]
@ TOP OF CLOSURE & TOP OF

PARAPET HIGH EAVE TRM
[FL-276]
1/4-14 x 7/8 LONG-LIFE LAPTEK

SEAL ALL VOIDS

FLEXIBLE MEMBRANE

OUTSIDE CLOSURE
[HW-440] @ 16" PANEL

SUPERLOK PANEL [HW-446] @ 12" PANEL ——

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] (1) PER RIB

| — TRI-BEAD TAPE SEALER

[HW-504]

/ URETHANE TUBE SEALANT

7 @ CLOSURE ENDS/PANEL RIB
b & LAPPING CLOSURE TABS TO
>
\

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E]

1/4-14 x 1 SELF-DRILLER
W/WASHER [FASTENER #1]
@ 12 0.C.

LOW MID-SLOPE FIXED
PLATE [HW-7631]

ZEE PURLIN

C (4) PER 16" PANEL

(3) PER 12" PANEL

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS




0/0 DIMENSION

(SEE PLAN)

MASONRY WALL (NOT BY MBCI)—————=
URETHANE TUBE SEALANT
CONTINUOUS

COUNTERFLASH [FL-341]

PARAPET HIGH EAVE TRIM
[FL-276]

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 6" 0.C.
(DO NOT INSTALL THRU® PANEL RIB)

TRI-BEAD TAPE SEALER [HW-504]
@ TOP OF CLOSURE & TOP OF
FLEXIBLE MEMBRANE

OUTSIDE CLOSURE
[HW-440] @ 16" PANEL

- FIELD SAWCUT

TRI-BEAD TAPE SEALER [HW-504]
/EA. SIDE OF FLEXIBLE MEMBRANE

14-10 x 2 DECK SCREW
/[FASTENER #209] @ 24" 0.C.

(PRE-DRILL HOLE)
_— FLEXIBLE MEMBRANE

/ URETHANE TUBE SEALANT

@ CLOSURE ENDS/PANEL RIB
& LAPPING CLOSURE TABS TO
SEAL ALL VOIDS

[HW-446] @ 12" PANEL

SUPERLOK PANEL UTILITY CLIP [HW-238]

1/4=14 x 1 1/4 LONG-LIFE
" SELF-DRILLER (/WASHER

[FASTENER #1E] (1) PER RIB
|2 x 2 x 16 GA BACK-UP

ANGLE

TRI-BEAD TAPE SEALER

[HW-504]

T

12-14 x 1 PANCAKE HEAD
SELF-DRILLER [FASTENER #12A]
(2) PER CLIP

ZEE PURLIN

1/4=14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E]

(4) PER 16" PANEL

(3) PER 12" PANEL

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS




0/0 DIMENSION

(SEE PLAN)

MASONRY WALL (NOT BY MBCI)————=—

URETHANE TUBE SEALANT
CONTINUOUS

COUNTERFLASH [FL-341]
PARAPET HIGH EAVE TRIM

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 6 0.C.

FIELD SAWCUT
/

TRI-BEAD TAPE SEALER
= [HI=504]

——14-10 x 2 DECK SCREW
[FASTENER #209] @ 24” 0.C.
(

PRE-DRILL HOLE)
PERFORATED VENT DRIP

(DO NOT INSTALL THRU PANEL RIB)

[FL-254]

TRI-BEAD TAPE SEALER [HW-504]

1/4-14 x 7/8 LONG-LIFE LAPTEK
W/WASHER [FASTENER #4]@ 6" 0.C.

OUTSIDE CLOSURE

; / URETHANE TUBE SEALANT

@ CLOSURE ENDS/PANEL RIB
& LAPPING CLOSURE TABS TO
SEAL ALL VOIDS

[HW-440] @ 16" PANEL
[HW-446] @ 12" PANEL

SUPERLOK PANEL

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] (1) PER RIB

TRI-BEAD TAPE SEALER
[HW-504]

1/4-14 x 1 1/4 LONG-LIFE

1/4-14 x 1 SELF-DRILLER
W/WASHER [FASTENER #1]
@ 12° 0.C.

HIGH MID-SLOPE FIXED PLATE
[HW-7638]
ZEE PURLIN

SELF-DRILLER W/WASHER

[FASTENER #1E]
(4) PER 16" PANEL
(3) PER 12" PANEL

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS




8/t

TRI-BEAD TAPE SEALER
[HW-504]

LOW FLOATING CLIP
[HW-230]
SUPERLOK PANEL

1/4-14 x 1 1/4 SELF-DRILLER
W/0 WASHER [FASTENER #1B]
(2) PER CLP

\2

NOTE:
REFERENCE TYPICAL TRIM
LAP SECTIONS

RIDGE TRIM
[FL-213]

BACKUP PLATE
[HW-7766] @ 16" PANEL
[HW-7764] @ 12" PANEL

TRI-BEAD TAPE SEALER [HW-504]
CONT. ACROSS PANEL

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E]

(4) PER 16" PANEL

(3) PER 12" PANEL

1/4-14 x 1 1/4 LONG-LIFE
SELF-DRILLER W/WASHER
[FASTENER #1E] (1) PER RIB

URETHANE TUBE SEALANT
@ CLOSURE ENDS/PANEL RIB

& LAPPING CLOSURE TABS TO

SEAL ALL VOIDS

1/4-14 x 7/8 LONG-LIFE LAPTEK

W/WASHER [FASTENER #4]@ 6” 0.C.
(DO NOT INSTALL THRU' PANEL RIB)

QUTSIDE CLOSURE
[HW-440] @ 16" PANEL
[HW-446] @ 12" PANEL

ZEE PURLIN

12



0/0 DIMENSION

(SEE PLAN)

11/2"

FIELD SAWCUT\
NOTE:

REFERENCE TYPICAL TRIM
LAP SECTIONS

14-10 x 2 DECK SCREW
[FASTENER #209] @ 24" 0.C.

(PRE-DRILL HOLE)

TRI-BEAD TAPE SEALER———
[HW-504] EA. SIDE OF
FLEXIBLE MEMBRANE

FLEXIBLE MEMBRANE

UTILITY RAKE SUPPORT ANGLE—
[HW-7732]

FIELD CUT & BEND UP 27
PANEL LEG AS REQD. WHEN
ENDING OFF MODULE

MASONRY WALL ———————=
(NOT BY MBCI)

(MIN.)

URETHANE TUBE SEALANT
CONTINUOUS

COUNTERFLASH [FL-341]
PARAPET RAKE TRIM [FL-285]

TRI-BEAD TAPE SEALER [HW—504]
EA. SIDE OF FLEXIBLE MEMBRANE

HIGH WIND PARAPET RAKE
NO CLEAT [F292]

FASTENERS/ _1/4-14 x 1 1/4 LONG-LIFE

SELF-DRILLER W/WASHER
[FASTENER #1E] @ 24" 0.C.

UTILITY CLIP [HW-238]

/SUPERLOK PANEL

12-14 x 1 PANCAKE HEAD
SELF—DRILLER [FASTENER #12A]
@ 24" 0.C. (CENTER IN SLOT)

2 x 4 x 16 GA. ANGLE

12-14 x 1 PANCAKE HEAD
SELF-DRILLER [FASTENER #12A]
(1) PER CONN. @ EACH PURLIN

\1244 x 1 PANCAKE HEAD

SELF-DRILLER [FASTENER #12A]
(2) PER CLIP

\ ZEE PURLIN



	SL-DW-ELP-04-V1
	SL-DW-ESJ-01A-V1
	SL-DW-ESJ-02B-V1
	SL-DW-EV-01A-V1
	SL-DW-EV-02A-V1
	SL-DW-EV-04D-V1
	SL-DW-HEVP-03B-V1
	SL-DW-HEVP-04A-V1
	SL-DW-HEVP-04B-V1
	SL-DW-HP2-01F-V1
	SL-DW-RG2-01C-V1
	SL-DW-RG2-03C-V1
	SL-DW-RK-01C-V1
	SL-DW-VL-02-V1
	SL-DW-VLE-02F-V1
	SL-P-ELP-01-V1
	SL-P-ELP-07-V1
	SL-P-ESJ-01A-V1
	SL-P-EV-01A-V1
	SL-P-EV-02A-V0
	SL-P-EV-03-V1
	SL-P-HEV-01-V1
	SL-P-HEV-02-V1
	SL-P-HEVP-01D-V1
	SL-P-HEVP-02A-V1
	SL-P-HEVP-02-V1
	SL-P-HEVP-03C-V1
	SL-P-RG5-01C-V1
	SL-P-RKP-01-V1

